
 
1 

93,566 + 34,458 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
2 

926.1 + 43.25 
 

                      

                      

                      

                
 

 

                 

                      

 

 
3 

 670, 000 +             +  500 + 90 + 4 = 672,594 
 

                      

                      

                      

                
 

 

                 

                      

 

 
4 

594 + 64.1 = 
 

                      

                      

                      

                
 

 

                 

                      

 



 
5 

45,359 – 6,458 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
6 

200,000 – 120,348 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
7 

49.3 – 25.48 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
8 

6 – 2.37 
 

                      

                      

                      

                
 

 

                 

                      

 



 
9 

50 x 0.05 
 

                      

                      

                      

                
 

 

                 

                      

 

 
10 

46 x 7 
 

                      

                      

                      

                
 

 

                 

                      

 

 
11 

348 x 64 
 

                      

                      

                      

                      

                      

                      

                      

                      

                
 

 

                 

                      

 

 



 
12 

54 ÷ 6 
 

                      

                      

                      

                
 

 

                 

                      

 

 
13 

 2315 ÷ 4 
 

                      

                      

                      

                
 

 

                 

                      

 

 
14 

6250 ÷ 25 
 

                      

                      

                      

                      

                      

                      

                      

                      

                
 

 

                 

                      

 



 
15 

7² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
16 

4³ = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
17 

8² + 2³  = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
18 

4³ - 5² 
 

                      

                      

                      

                
 

 

                 

                      

 



 
19 

3 x 27 ÷ 9= 
 

                      

                      

                      

                
 

 

                 

                      

 

 
20 

45 – 40 ÷ 2² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
21 

 5 – 3 x 5 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
22 

49  ÷  ( 2² + 3 ) = 
 

                      

                      

                      

                
 

 

                 

                      

 



 
23 

820 x 10 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
24 

0.34  x 100 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
25 

 6490 ÷ 100 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
26 

459  ÷  1000 = 
 

                      

                      

                      

                
 

 

                 

                      

 


